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SEMMOHERXREHRFE
32 EEY AT HLME S SHEICR T HHEWA/D) | BmEE | 7k2of/
SHERbOME | EFMES 08551004 | s | JEBER | PR | S FEAS AR AN A5
SERMO TiRICHET 51 H# SEMHEA
;ﬁgg TEEOBHDESLADKES TEEDHBEESENDRES TEZEOBHOESLADKRES TREOEBESLIDKRES
B2 oma O TR B TR W | = | T [PRRPER R B [PREPERLTS e
S 100kN/m%HBZ 5| Loo| ooo~ 0092 11379|3m%EEBZD| - ~ - - - 100kN/m%E#8Bz25| 100| 1160~ 1540 11379|3mEBZB| - ~ - - -
Zzh st 1.00| 092~ 871 10000 FNASY | 000~ 871 216 10.93 Zn st 1.00| 500~ 1160 10000 TN | 500~ 1540 216 10.93
, 100kN/m%E#Bx 5| 1L0o0| 000~ 138 12098|3ImERBZB| - ~ - - - 100kN/m%E#BZx 5| 00| 1059 ~ 1500 12098|3mERERB| - ~ - - -
zhst 100 138~ 917 100.00| FhnLLsth 000~ 917 244 1231 zTh st 100\ 500~ 1059 100.00| Fh Lot 500~ 1500 244 12.31
5 100kN/m%#8%x%| 100 000~ 135 12041|3mEBZBH| - ~ - - - 100kN/mM%E#Z 5| 100| 1073 ~ 1500 12041|3mFBAD| - ~ - - -
ZThish Loo| 135~ 913 10000 TS | ooo~ 913 249 1258 Fhs 100| 500~ 1073 10000 TN | 500~ 1500 249 1258
s 100kN/m%#8%%| 100l 000~ 150 122873mEBRD| - ~ - - - 100kN/m%E#8Z2 5| 1ro0| 1108~ 1611 122873mEBZB| - ~ - - -
Zzh st 100| 150~ 929 10000 TS | 000~ 929 257 12.96 Zhn st 1.00| 500~ 1108 10000 TNLS | 500~ 1611 257 12.96
5 100kN/m%HBZ 5| 1L0oo| 000~ 146 12215|3m%EBZ5| - ~ - - - 100kN/m%EB 25| 100| 1122~ 1611 12215|3mEBZB| - ~ - - -
Zzh st 1.00| 146~ 924 10000 FNASY | 000~ 924 259 1308 Zhn st 100| 500~ 1122 10000 FNSY | 500~ 1611 259 13.08
p 100kN/m%E#BZ 5| 1L00| 000~ 142 121.57|3mERBRB| - ~ - - - 100kN/M%E#B2 5| 100| 1132~ 1611 121.57\3mEEBRB| - ~ - - -
Zh st 100\ 142~ 920 100.00] FH L5 000~ 920 260 1316 ZFhLst L00| 500~ 1132 100,00 TS | 500~ 1611 260 1316
; 100kN/mM%E#BZ5| 100 000~ 169 125.94|3mEEAS| - ~ - - - 100kN/m%E#Z25| 100| 1060 ~ 1688 12594|3mEBZH| - ~ - - -
zh ot 100 169~ 948 10000 TS | 000~ 948 231 11.69 FnLst 1.00| 500~ 1060 10000 TN | 500~ 1688 231 11.69
s 100kN/mM%E# 25 100| 000~ 163 124973mEBZB| - ~ - - - 100kN/m%#8 25 1.00| 1058 ~ 1646 12497(3mEEZB| - ~ - - -
zhst 100| 163~ 942 100.00 Fh Lo 000~ 942 232 11.75 zTh st 100| 500~ 1058 10000 TS | 500~ 1646 232 11.75
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 5% ~ 3mZEHEZS ~
zh st ~ zThs ~ zh s ~ zhos ~
100kN/ Mm% % 3% ~ ImEBZD ~ 100kN/ Mm% %5 ~ 3mEHEZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD ~ 100kN/m% 8% 3% o ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEZD ~ 100kN/m% B2 5% ~ 3mEHEZS ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3ImEBZD ~ 100kN/ Mm% %3 ~ 3mEHEZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




